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A 8

A HYRAZHI(VAXEL)(DIEH/IIE
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=3l 199,224 202,928 A3,704
Jl=&Hl 199,224 202,928 A3,704
201 er23| 175,816 179,404 A3,588
01 At2teltl 148,548 151,580 A3,032
OYptaRY| ZHH|A
121,351,000 *14] 121,351
oS8l S99 27,197 ,000& * 14| 27,197
2 S22l 27,268 27,824 A\b56
O=32= € HAl S99
27,268,000 * 14| 27,268
202 04l 17,468 17,824 A356
01 =LHAHI 17,468 17,824 A35%6
OFAMEE SHAHY 15,548,0002 *14] 15,548
ORI HA2EXOBEZ 20|
20,0002« 1+ * 12 1,920
203 =] 5,940 5,700 240
M FA2HLRFAI 5,940 5,700 240
ORI A H(H RA494)
(400,0002+(5,0002 19 ) )+ 122 5,940




